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Q.No: 1 a1 Rigror Bt wert & Fim & § -1 enepe fig et 82

A A, T

B Yel, HFT

C foram, siftyeafd
D [EEEIC!

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 2 YT & T B & dIe Aeayul J9M g1 TRTI

A SHT Y W Hipsl & SMYR R T & St ¥ faR-fast =
B TSl Y oW FR @

c HFS! P T T FIA

D B! BT G- TF: &0 FAT

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 3 YTNT & e 3R AUS Teih FT I §:-

A =il Bl WG Bt UishUI B! THDR SuGe RG-S Ufhar U
B STEH T A WAd B o 6T G

o = Ft Afedl Ft UgIH BT

D i Bt W BT Fafg F

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 4 = ¥ ¥ T ¢k IRV & ferg S fafy Juarh g
A S TR TR
B T KR R

C ey ’R W
D RS TR W
Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 5 1 & 9 T Wik 1 &I UHR 41 WY HI-T1 87
A e

B 3eipd Tl
C fritfora T W@ ue
D oD T

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 6 e & 9 et Rieyor gl wd g 9fS BE & R o= @ R_fy Sugw 32
A oa-fafy
B S fafy

~~
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c RGASGINCINS
D Seve fafy

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 7 Tfium ¥ e orgede & Fe1 Tan § 5 Oy it Imvron R ofR frfy S 2t 2
A 350

B 343
C 330
D 320

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 8 1 # ¥ fRaor &1 gwifdd = aral/aret SRS HIH-G/A § ?
A Faa wrd el

B Faa Ruerlf s

C Fad D TR

D oA gvafl, Rl wef, s wa=h

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 9 URGR TF TeF § ?

A SFTETRE Rien S

B TR e &1

o Faa Shu=ii R &1

D S R Td e Rie &1
Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 10 HNT-3%f 3R HII-3ifm & Tl & B1F-91 Ho Wl T8 82

A [ieep e FIRar HIST 3i SiR U AT Bt w1 A JTen eyl R &
B yrl-34fT & ot ot srgare o1 weRT el fRran S

c HTSI-3oF Fo SR WTHfie St © wrafds HTr-Siirr el e 3

D UTT-3ri H fafd Tepearmg A & st 8

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 11 Wrfie &R TR 31U Byl Hiaareh § b ual ) qe sarel Heayqul 7id 82
A gesfi, Tevl, el A qevd

B TE UGS

o ufaf¥a dEw! 3t Heial, Hiaang s HI g oY

D FEIaY, Bdrell BT SRt faw! B SFeRt B =R ¥ I

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 12 “PHUT P HIgR’ HId A B dlell HRIad FHifhd Heradl & F -1 82

A T AR ST et
B T S G & B U
C it F g o1, HA A U

D a1 vers et Siedr
Correct Ans : A
Subject : Hindi Bhasha 01
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Q.No: 13 wfaar Riamor @t YUt I=IeR Areafiie wensi & oEl & g Raert 31

A gt

B of Fu
C e

D G

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 14 TIgHTT e o1 3830 i €

A TAIAS S
B PRATS S5
o YOS e
D SIS

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

= R R T i B YeaR g Y Ul & Ted 3Rd SaR a1d Rded B 999 $ifone-

I9 A 95 § T TP 1Y A- FgH H 9, THF 40 BT < d §U 3Ad YR P A1 Aig-Wg S T il BT 40 & TP I3 o B aus gt N o8 R 4U 95 a1 & 91
o R difedi o1 sgard forg 3 T, dis-3gU &1 Or & Rie Sid| $F gaT Sike B 31 $8@ $1 814 Thsd gl WU &I o8 9% WP 3¢ ¥ T4 & HiR 71 W I & SR
IRR & iR TF G0 TP 63 T 6% b & g Tikaia o5 & gt A figM & 39 el W, &t 4U o ¥ a9 & 91y IR @1 f, 8 oo @m & 31e-98 7 9 foram €
&= Tt U A1 371 T TS WY o7 % 591 1 591 B aRg e ¥ uga o gRBa U1l Ipeh gwal & fBan  9gg sremimiell & e wR ufdias e o oo @Y g @t
foem 19 3 791 7 W @ A1 3 T 9 Fei ¥, WU B P W AR F Iodl TF A 39 Ng-fAgR & R wA & A o FERE v @i dewr-aset figH # e @y T
I3 fo1 9 a1 & IaRd B o & revTal 3 Tewaar guA arat At SlgR aTelt SaTSt B off IUDT SHRIG SRERT AT ALY, e gl off Ihall W WIS P gerd-dgn gu ™
1 A IS 9 G AU - ASH-Asd! P1 HaH # 961 U& A1 71 31 e &) Yo SIS 9 $H Iquun =41 1 & Rrl & a18 Huidg siex Sad 3tk B I 4 Ued 81 @9
T 9P A 3R 4§ egem @t 41 4 ogeid B UE G I S[FHD T TH IT IS Th<l o arelt feufard off I e A anlt off 5 e 9t B et o vaTe T Bt @Re S S
# 7 75 Wl

Qe e H RR e del 98 TSI Sl 309 e W Auely T §U §; Auery @1 113 I 43 §U Yool W <BFH g3 8; i@ i wHl 3t Niue bRa Wl g5 8; s W &
Ae-TC 3T+ TR B Tl & 31ef TaT X§T §1 P! R T YA N W i WAl I AR Hxad §¢ T T foneann st v vt ot o 0 O, a1 et siR g ol a1a §, gl e RR
I Y G AR 38 | TSP F U TG WRGR UT| 98 A F 1Y BT8R BIc G Bher 401 f Ifdl 7 e o= a1 e A1l 9e SR gedl & o Qe dig w3 fEes wra S
I U e gt o iR foret Fmel @ wifde & a1 | e o Wit % U o 4RGR AT IR AT S S H TP RE T GSASIeT B 7 QT U1l TSP B O P WS
A Ty Y| 1 I9F T BT +ft Iguwon F R 3 Sty e § a1 Wi &1 17 o g TH IR R @0 7 ? 98 96 PR 96 T IR qeedan] HA guk gal Sigl Bl 4@
g SR Igurmon & orf Iuw MR W TR @ A1 BT 38 Whd gl I WIS g § B far man 1 st orifd §1 B $o 9 el g1 afd ga 77 31 WedeTee B X
T HUlUe! & AP R Gl

Q.No: 15 IUYH TN & SIER, ‘el & Tear § o a2

A GRS Bl

B e & 3fex gSa9Ee Il

c it Y =it P RE Wawaree gl
D QERTAl BT THREAT

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

R A T U TR @) UgH} g U TR & J9d IR SR i [dded BT 99 dHiford-

39 A9 9gd § GF U 1Y A- B A ¥, T 40 BT < A0 §U 30d I $ 1Y Sg-Wq0 B & il ST U & U 93 T B aud gt R 9 R ¢U AP A1 I a8
03 W Fifed! o1 Seur forg 8 T, Sia-3gu 31 O/ § RMe od| &S gd1 Site 311 Bl 68% &I 814 UHad gU WU 3| o8 0 WS 3T ¥ KU & HR F1 R 9 F sRU
IR F iR T TU P! 68 I 91X B & U TiRaiRe {5 & Igt 7 fem & 39 Gl |, 6t 4 o R a9 & 91 R & 6, <8t fomram @M & B1e-98 9 9 fba &
o It U Q1 301 T U@ Y U1 %5 51 &1 51 1 axg e ¥ Tgarn i gRpa o1l pah g<al & [bar g1 Wig SeAumieh & ™ R dfdas gie) f o 3f g &1
o g § wa 78 w kg A1 @t 7 9 Bel 9, T B P Ul AR T Iod TP A 39 dg-TagR F [ER B & Afowm wag FERE oA awlt- aed-asa! fem # T ay T
I3 1 99 a1 & I=IRG B fpan € SIeRTal &1 UhRaar gHA aralt At eI aTelt Sare 1 off IUDBT SYRTUA SR AT e, BT el off bl W AESH FY gerd-ggd gu e
B Ao AIST 9 BT Ul - TSH-agH! $T HgH | 361 U T 51 31 e €1 a1 SIS 39 e Squmen ¥t Md & ®irlt & aig Hufdg §ia) I5d Sk 31 g7 § U5d & &9
B 9P 3 SR 4 & cgaq @ 91 4§l Toedd §U TP g I 3AMSE IT IH AT 3FETE Tl o aral fuferl o I8 I9a X @il off 5 w31 315 i 4R wars T 3 eSS S
¥ 9 us W)

Qe e & R W@ del 98 aa! Ol o0 Ue W Auely W §U 8; Aueiu #t fio 35 42 §U Yol W <Rl g4 8; i) dig v & fidiue ved ol g5 8; ag 34 &
Ae-TC O+t TR B Tl & 3ref TaT X9T §1 PO W F YA N W A WA F FAwaior Hrd gU IR U o dut Hn @it R o 0 AR, g felt oik ovg B a1a €, g0t g RR
I G AR AR @ Y| ISH F U GG YR AT I8 I & Y BT R Bie 3 ol 407 ff Igfodt g X A Tea o1l U SR gedl & i gl dis T 1 diSiew wiRd 3
I T T F ger fom ok et el & Wit 1 qiey | g ol WA & O ot SRR T R ST ITDT Y W TP RS BT gIISIBE Bl 3G @M A1 TSF HI AW P YA
A T T o 395 77 1 2 IgEwon & ER A <ty fear § a1 Wit @ a7 e TEl WHE QR B33 @0 § ? 98 38 TR 36 T SR TgadeH! HRa guk gal Siel 3 @ @l
e TR IO F 31 JTF Wk e T T A1 B 39 Wl 5o 39 Wi gfar F e o T 71 Tt o™i ¥1 P $© 9 6 X6 A a1 T Bl WeaaIee Bl
T HOYEK BT I B |
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Q.No: 16 IUYe TR F 3IHR ‘51 Bl gl Bl a6 YgdH1’ FI Hiwpa o ?

A geif SR Tl P gaT - 5% K A
B g1 el wPR 9 IS e 7

c 50 TS TH W Al

D 4d 9gd o Sof &l A

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

&= AR 3T 7Y T ®) UEHR YR T URA & e I IR ard faded &1 99 Sifvie-

I A 95 § T TP 1Y V- A H §, THF 4U BT o< A §UI TS GRA F A1 A-Wy 3 et Sl B 4u & U 93 R ) auw gt R o9 R yu 95 91 F a5
g R difedi o1 sgard g 81 @, ds-%u @1 o # Rige | ©F ga1 SIS 31 31 3@ 31 514 UHsd gU WU B S TP WP 3T A WU & R 57 W 901 & oRor
RR F R TF G0 IH1 58 T IR Hpa & g miRkaias 5 & gl A figm & 37 el R, 9t 4U oo R a9 & 9y R % f, 38 forer @m & BR-a8 7 91 fvan €
$o3 Wit U A1 301 T8 TS WY U1 {5 591 &1 51 I aRg 30T ¥ Uga1 i GiRFpa o1l Weht S=al & baq g1 9gg SAUSISH & == iR Ufdies g Wl 3o 31 U &1
o R & T4 A W @ A1 @it 7 I Fel ¥, WU F HF W AR F Il U G I dG-1aeR & [GgR & & Aodn FRG MR I @il- TSHl-asd! feM | U Y 7
I3 79 7 a1 F I=RG S fran € Sievial @t Tehkwar gy arcl At e aTelt Siars i 4 ITET SYRIUT SRR AT Ve, HeT Tl off ThaTl W AEIST H Herd-gerd gu R
BT T WIS T50 IHT AT - ASP-ASD! BT A § 41 U 1 T 81 e & g1 SIS 39 62 Squmon Fh Mid & Rkl & 918 Suiag Siar 384 Sk $T g7 9 Ugd & T
B g5 ¥ SR 4 & cgaq @@t 1 4 & Tged §U TP GO A SEME UT TH AT SIS Th1 o arat fRufel ot 3% wea A anft off 5 o 9t 9 =it R s &t @jg S S
T 9 ys 9|

Qe Mg § AR TP Al 98 TSHT Sl 30 T TR AU T §U ¥; AUy 3 s I8P T8 §U Yool W ] g8 ¥; i@ dig 1 1 NI b W ol g5 §; a8 39 &
Ae-A et T Y HA I oref e |7 B 1 FIE AR Y A o 7@ i HE Q RwaioR R g ifdE v e w9 %3 @t ot 35 U SR, g8 et ok o # S ®, 39 e RR
I G AR AR @ A1 ISP F UM G WYY AT I8 i & T BT R BIe F Ber &1 o agfadt ¥ g o A gear 41l U SR ge & d gl dis v ot e v #
I U o § gt famn o forat Fmel & wifde &t ain | I o WA % U o ARQR AT TR AS 1 3BT 3G H UF IRE P gSaSIee B 4F 6T U1l ASH H @l o I1g
I A1y | 1 3UF A BT Hf IFEWon F R A el o g a1 it B 7 {987 S T fagR X O 8 ? 98 96 BR 96 T IR IgadaH] B GR Al Siiel $i a@ ol
fd TR IUIon F o ITF MR e T T A1 B I Wl 5o S W giHar § B e T ¥ Tt o™i §1 P $© 9 T g1 Afp a1 T Bl Weagee Bl
T FHUIet B 1 B

Q.No: 17 IUYH TR F 3ER, IRl a=d e G &I a1 761 W@ 4 ?
A Pekaliasiiaeks

B WH AR
o AR
D AR AR

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

& AR R U T & ueHR g U URA & Gad IR SR ard faded o1 997 Sifn-

39 A 9gd 4 A1 U@ 1Y A- AW H 9, T 40 61 < ad §U ead Td & 91 Sis-WU 1 Tl gidl ST YU & T 98 % &1 a9 gt N $9 &R YU 46 a1 & 918
o W et 1 sigur g 819 T, Ss-3gd @ B & RMe 37| 7% a1 SIS BRI $t $8F &1 814 UHsd gU WU P 918 0P WP 1T A TU F HR 57 |R 909 F SR
IR F iR T TH 1 68 B 9% B & fow qiRaie 5w & gt 7 fem & 39 [fWil |, 56t 4 o @ a9 & 91 R 3 ff, < fooram @F & B1e-a8 7 9 foa &t
&= Tt U A1 371 T TS 1Y U1 {5 591 &1 591 1 aRg e ¥ Ugan o giRea Tl o g<al & a8 9gg sremfimieh & s iR ufdias SiaR o oo @Y o &t
e 8 | Fan 78 w @ A1 @t 7 9 Fel ¥, WU @1 B Ul daR § 35 U@ oA 39 dig-fagR F g oA & Afomm s FERE wa aill- aeer-ase! feH § uw Wy A
I8! 91 9 A1 & SR Bid fha- €1 SIexIal &1 Thgar gy arct At e arelt Sfars ot ff ITdT SYRTYA SraT a1 a1, Hel ol off Ihall TR ALl &I gerd-geid gu Fdw
T Ao U1ST 95 g1 U1 - ASH-Igd! BT HgH H 361 To WY 71 1 e € ga1 e 39 Sy Iguwmn &t fiq & vrft & 9 Foieg S Sod 3l B I 8 ued 6 @9
B g5 J 3R 4 egaq @it A1 4 & egad §UUF R A SEME TE FH AT SIS TH1 o arat fRuferl off 3% wRa FxA anft off 5 o 3t 91 1/t 4Ry wars &t @Rg S S
# 9 7g Wl

AP T F RR TR Aet 98 TSHT 9l 307 I R AU 7 §U §; AUy Bt die 39F 43 §U 9ol W eiat ¥ ¥; o i il ol Rhuw wa W o g8 §; ae qQ &
A=A SRt T B 7 I 342l 7T QT 1 BB R F G o W g T A RAvaieR H¥al g Al U o i k) it ot o o o, 7 fodt @ik o &9t w1 @, g 9@ RR
T G A3 AR R A1 ISP F U G WYY A1 I8 I T BT @R BIe F ot o1 off it ¥ e o A 9rear A1l I SR gedl F d gl dis 1 ot didiew wiea &
I T e § ger e ok RS el & Wit &) aien @ T @) 9RF & U ot IR o R a8 SUH! S T UF @RE B SSaSIee B 49 V@1 UT| AP &I @ fob I1E
A Ty T | 1 ISP 7 P +ff Iguwon F R 3 oty e § ar Wit &1 7 T et TH IR X7 @ | 2 98 96 PR 96 T IR Tgedan] Hd gak gal Siel Bl 4@
3fq SRR IgEon & orf ITF MR T T @ A1 SHBAR IH Wl o 39 WS g H T o wn §1 At Sifd ¥1 B 3o sia ALK Y81 e gar 7 Bt Weaaree b1 @
T HUYEE BT A HR

Q.No: 18 IUYR Tl & AR, WU DI bl IR § T 1T 3T ?

A Tt U s & 1A 7 9

B FSPHI-aSH! B & Ub Iy T 931

o PIs ot Wy 3t fet dlar & g1 7 @l
D PN SIRINH 1 4|
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Correct Ans : B

Subject : Hindi Bhasha 01

Passage:
& 92 3T U T $ UeHR U@ MU U & T 3 SR A fawed o1 997 Sifvne-

TG IS 95 § T TF WY A- AgH H §, TRE 40 FT o< T gUI TS GRA & WY S-R0 31 T el BN 40 & UF 99 T B auw gt R T7 R YU 45 I F 9]
e W Hifedl o1 spur R 81 T, Sig-Xqd 3 o1 § Rme | $F 391 S BT B 658 &1 514 UHsd gU WU 3 OIS T WP 3T 3| WY & M@ F1 R I F RO
R F R TF G0 IH1 6 I a16R Hpa & g mikae 5 & gl A fgm & 37 Rl R, 96t 4 o R a9 & Iy R & f, 58 forer @m & 31R-a8 7 9 fvan €
8 WId gU A1 ST $3 U Y o1 &5 g1 &1 a1 i ok SierT ¥ ugarH ot gRea ol ool aedi & o € Tg siemfiemrell & foxnAds R ufdies dia) oA &1 gu &1
fow 8 4 7o 781 w @ A1 @t 7 I Fel ¥, WU 1 $ Ul AR ¥ 36d! UE A 99 dG-19eR & [GeR $vA & Afoan Fe MR o= aill- ae@l-ase! feH § @ Wy T
I8! fam o O & I=aia g favam € eRrdl @t uewvadr g are A Sleve arelt srarsT B oft SUwT SRRIOA SRR AT A, el Tl of qahall W HENSH $Y gerd-gerd gu fAdw
BT T ST TG0 IHT AT - ASH-ASD1 BT HaM § 41 Th 1 T 81 e & g1 SIS 39 621 Squmun T Mid & Rkl & a8 Hoieg §iar I8 ik $1 g 9 Tgd & T
A gF 4 3R 4 & cgom @it A1 4 & ceed §U TP G A SFHD T TH IT SIS eh]l o aral fRyfaet off 3% Wi oA anft off 5 P 3t B Tt aRy ware T 6t @je 3% S
7 9 9g Wl

Qe Tiie; i R Taee AeT 98 TSI ol 3(U4 I¢ R Auely T §U §; Aueiy &t dis 39 43 gU Yol W el g8 §; o Oig 1l 3t NEiud hea R ol g5 §; g R @
Ae-A T T 1 HA F o4ef 5T @7 B ) PIHT R Y G o1 W@ Sl A A AwaioR IR g WA U [ 9 =3 @it ot e SR, 78 R ok we 7 s ®, 3 e RR
T G S AR I3 | TSP P U T R U1 T8 A F WY BT R SIS Bier & 2 vyt F g o A1 Igan A1l 9 3R Yo & i gt dig w96 9 e wiga B
I U@ o F gt e ok foradt el & Wifde &t a1 I I A A & O o ARGR U1 TR ASHT ISP 3G H TP e B gSASIBE Bl 37 @1 U1l ASP B @l 5 g
I W | 1 3% A H1 Hf IgEwon F R A el o g a1 Wi $1 7 957 S T fagR R @0 § ? 98 96 IR 96 T SR IgadbaH] Hed GaN gal Siiel $i o il
S TR IUUN & 37ef ITF iR T S @ A1 SHTA I Weld o S W g an | B forn 7 B1 4wt oify ¥ B $ SIa ALK 3T Qb gal 7 Bt Tedaree Bl 39
T FHOIE! BT A1 B

Q.No: 19 ITYH TR F 3R, A HYT B T BIoTC-

A AU T TSHT IR & T BT 5R Bie & Bier & ot gl § S B AT e ATl
B U @t sl dlaR I Sodt U Ee 99 die-RER & fier 71 & Faw e RERh o ailt- door-asa! fem § t@ w7 931
c I AUEIT TTQ TSP B eller goit o 9/ Wi g e far ol 81 Tl wga Wit B

D ol =t & v & o srenfiwel & Ry R ifFes feR ot on Sl g R S YT T W A

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

&= R 3T U TR 3 ugwR g M U & Hed IRd SR ard fawed o1 997 Sifn-

39 A 9gd 4 91 U@ 1Y A- B H §5, T QU BT < Ad gL ead Id & 1Y SiG-KU B ! gl ST U & TP 93 7 B aud gat N T8 R YU 9P I S 98
e W Fifedt o1 srgun forg g1 e, Sig-¥gd ®1 o1 § Rime oid| $s gdl Sits BT B $8% &I g4 UHad gU WU 3| o I WP oMY ¥ TY & Ha® 1 R 9 & SR
IRR F iR 7% 70 91 8 I a1eR B & I aRaRe o & Tl 3 HaM & 97 iRl |, 6f 4 o R a9 & ary R @ A, 38 oo an & 8r-98 7 91 foar &
5o Wit U A1 371 T8 TS WY o1 % 591 1 g1 Bl @Rg e ¥ ugaEAn f giRFa unl Wi g=dl & fhan @ 9gg sienfuemieh & e wR ufdas diaR o oo &Y g &t
fowa g 4 o 78 w ¥ A1 @t 3 9 Fel ¥, |U 31 $1 Ul AR ¥ 36 UE oA 39 dIG-fagR & 8RR o & Afoan wae MERE ava aft- aeal-ase! feH ¥ tE Wy A
31 o1 @ a1 & I=Rd B fFan 2 IevIal @t Tagar gy aret At e arel Sars Bt ff IABT SRRIUA SR 1 Tel, Hel ol o Ahall W AESK $Y gerd-gerd gu dw
&I Ao AIST S5 b Ul - ASH-TSH! Bl o H 9611 U WY A1 81 v € a1 SIS 39 $ebw Igeivon w4t 7 & Wl & 918 bufevg gl 334 SR B i 4 Uedl €1 TS
TP A 3R 4§ egem @t 91 4 cged T TH R I SFHS Te T I7 e Thl o aret fyfard off 3% W S olt off 15 e 9t B et 4R are T &t @Rg S S
T 9 98 9|

QM e F RR [T del 98 TSHT Sl 307 U TR AUT T §U §; Auely 3t Uis 39 43 gU Yool | i@t ¥ 7; o i 13l 9l e wa WMo g2 §; e A/ &
A-Te St A 1 1T & 34 T X§T B 1 HIB! AR W YA O ¥R Sl HA A fAwaieR wRa g WA U faean g9 v @it off 5 v AR, 9 faelt ofk ohig @t @1 §, gl g2 RR
IS G A3 AR R A1 ISP P U G HRGY AT Ig FIfA 1Y BT R B A Srer &7 o agiaat § S o A1 9gar o1l O o gedl & d gt dis 1 ot fiiee wiea
I U oo  get o oiiR foret FAmel & wifde & aien | IHE o Wi & U o ARG AT TR ASHT 3B S H TP IRE Pl gSSI6E B 47 T U1l TSP B O % ;G
IR Ty T 1 T I9F 7 PI Hf Igawon & R 3 iy far 3 a1 Wit &1 77 fign et H IR FR7 @0 ¥ 2 98 96 PR 96 I IR TgPaH] B g8k gal Sl Bl G@
S HY SEuryun & rf ITF MR T T A A1 BT IH Wl o 3 W g | B o mn B1 At iy §1 B v i LK Y81 A gar 7 B Weaeree 1 @
T FHUTE! B AT B

Q.No: 20 Iuad TR & IIUR, TS - U fadd | o1 gl foar ur?

A T Bt gD

B HH 31 GiEew BrEd
C e W

D oA & B

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

&= - U T T @Y UgdR g@ U URAl & ge Ifd Ik aKdl faded &1 99 Sifore-
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I AT g § T TP 1Y V- A H §, TRF 40 BT o< A9 §UI TS GRA F A1 A-Ry 31 et Sl B 4u & U 93 R B auw g9t R o9 R yu 95 A1 F a1
e R difedl o1 sgarg g 81 @, dis-wy @1 orn # Rige | ©F ga1 SIS B 31 3@ 31 814 UHhsd §U U B! S TP WP MY A [ & R 77 W 901 & SRy
TR F MR 75 T IF) 33 31 a6 b F R WRaRe e & wg 3 Aar $ o R W, el 4T 9 R a1 & W AR @ A, o Rerey @ F or-ad 1 9 A @
$o3 Wit U A1 301 T TS U1 U1 {5 51 &1 51 I ORg 30T ¥ UgaHH1 i GiRFpa Tl Weht S=all & ba g1 Ug SAAUSISH & = iR ufdaas giaw W oo 314U &1
R R & T 7 W @ A1 @it 7 I Fl ¥, WU 1 HF W AR F I3l U G I dG-1aeR & [AeR @9 & Afodn FRIG MR T Tll- TSHl-dasd! HeM | U a7
I3 91 o a1 F I=IRG S fran € Sievial 3t ThRwar gHA arcl ot e arelt siars i 4 ITET SYRITT SRR AT e, FeT Tel o bl W AEIS H Herd-gerd gu e
BT Ao IS TG THT AT - TSH-ASH! BT AGH B 31 T T 71 31 fran § gar oS 39 Hh2 Sguiwen T4t Mid & Rl F a1g Huidg §IHk 364 Sick I I 9 U830 & TS
A IF A SR 4 & cgem @t A1 4 & ceed §U TH G A S[AHD T TH IT IR Th7l o ara fRyfae off 3% wid weA anft off o e 3t B et oRy ware T 6t aje I
T 9 s 9|

QA 1Me # RR TGP Tel 98 TSHT Sl 3 e R queid T §U §; queid &t dis 38 43 gu e W e g8 §; i g 1 &) fidiud vRa el gd §; w @ &
Ae-A et T Y H I oief e TeT B 1 HIE AR Y A o 7B S HE @ RwaioR R gU 9ifdE v forean wa R @t ft i e SR, g6 et ok o # s @, 3 e RR
T G A AR @ A1 ISP F UM G WRGY AT I8 i & T BT R BIe F oer &or o it § g o a1 Tear o1l U ok gedt & i gl dis v ot e wRa @
I U o F gt fom o foxadt Fmel & wifde &t aren o I o WA % U o ARQR AT TR ASHT ST 3G F UF IRE P gSaSIee $I 47 QT U1l ASH B @l b IS
A a1 g1 71 3UF A Bt Hf IO F R A el fan g a1 Wit $1 7 {987 F T fagR $R @ 8 ? 98 96 IR 98 T IR IgadaH] B GER gaT Siiel $ o ol
3fd TR IUOn F o ITF MR e A T A1 B I Wi g9 S W gian § B e T 31 It SR ¥1 P $© e T g1 Afp a1 T Bl Weaee Bl A
T FHUE! BT A B |

Q.No: 21 & & 9 fore wsg &1yt Iude e ® e fomar war @2

A gadarge
B TSESIRT
C LECEIE
D TEADGH!

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

&= 2 3T U e 1 ugHR U@ U U & T 3fd SR ard faded o1 999 Sifne-

I IS g U T TF Y 3- FAgH & §5, TRFR 40 BT 3= ad gUI ST YR F Y eg-T0 &1 vl el BT 40 & T 93 T B qua gt N $8 R YU 95 01 & 915
e W Fifed! o1 epur forg 8 1, Sig-¥gd P o1 1§ e S| $3 gd1 Site 811 31 689 P 514 UHsd gU WU 3| o8 TP WP 3T ¥ |Y & W 1 R 9 & RO
IR F MR 76 79 B 6 B TR B & [w uikaike 5w & aggt 3 feq & I R R, 56l 4U o1 [ a9 & 91 fR & 6, <8 R am & er-a3 7 9F fbad &
o8 WId gV A1 A1 $B U Y o1 {95 g1 Y g1 Bt kg SierT § ugar ot g uTl Ipeh aedi & fha & 9gg siemfimrel & foxndwr W ufdieg gia) oA o1 U &t
e 8 4 e =g wi X 31 At 7 9 Fel 9, WU 31 H1F Ul AR 9 3541 UE A 99 dig-fagR F 38R s & Afoan s MR ava aifl- aeel-ase! feH § UE Wy A
3! o1 9 A1 & SAIRG BI [ba- g1 QIeIal I Thaal gy are &t e arel Sfarsl i 1l ITST SYRIUA ST 1 Tel, Hel Tal off Il W AEISH ST gerd-gerd gu Few
BT Ao 18T S5d gl U1 - ASd-agd! B AeH H 961 Uh 1Y T g1 e &) gar o 390 w3 Sgawon =t fid & wirdt & a1 sofeg §iak Iad Sk &l g5 § Ued gl |8
9P A IR 4§ cge T A1 4 TEad U TS G U SFHP e TH T IR TH1 oI areht fRufard o 9% wad v @t off 5 A ot i et 4Ry wre T @t avg 9 B
T 7 g ol

AP e F RR TR et I8 TSHT o 307 I TR AU 7 §U ©; AUerd Fit 1o 39 43 §U el W Tl g8 7; o dig 73l o Hhuw wea Wi gg &; ag a9 &
QAe-q2 St TR Y 13 % ofef e QT ]| FIB W J G o1 W g 1501 A AwGieR 30 gU A U foan wai vy @t off b U o, 7 Tt ok &g o) &ral §, & 9@ RR
I G AR AR W® A1 ISP F U GG RR AT 98 A F Y IR BIe F ol &7 +ff Igiat § Fg o 9 Tea 91l T ok ge & S Gt a9 w3t e B 3
I 0w faae @ ger fear ok et el @ e &t area) ol e o 1 & O ot ARWR T R ASHT ISP i W TP RE B1 5TASIeT Bl AW @1 U1 ASF $ A b g
I A Y| 1 39® A B IgWon F o A el faa § a1 Wi B 7 357 S T fAgR SR W0 B 2 98 96 DR 98 T IR IgadaH] HRa G gal Siiel Hi o Tl
S SRR IFUON & 37 ITp iR T A A V| BT I Weld g SU WS g & s o T R1 wgt oify ¥1 B B < ALK @1 Afep a1 7 Bt Fedaree Bl 3@
T HOUSK BT 916 B |

Q.No: 22 = A | FH-T1 Usg 3T HT fad sg 82

A SIFERIPY
B TP
C S
D CEIEEg

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

R FY F UgaR IH T U F TEY S SR 1 [we a1 T Sifm-
BT T 3R o1 9 RRT o QAW F,

TEW SR W 7S +f 7 Foreht ¥ 7 7

fore S ot v 9d I9E R 9 REl 6

T 3 8, o dier @ & 1 e Bl

e & g et 3 wegE g Sl €,

gt Afear § ur o ey g3 e €,
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1o digeR U Pt S vee! W g9 8,
g T € S T a@ o A 9N 9 7

Q.No: 23 IR TR AFAIT T PR@EMN___
A ECEGICE!

B it arE g S 21

c St TR SR o W g §

) Za B IR A TR B

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

=T P B UgHR I T URAl ¥ T IR IR a1 e o1 997 Pifn-
B 9 o 1 A ARfET R @ A9 R,

TEo SR R A7 o 997 SARA | 49 T

fore St it i w9 A< R aRg RRAN &1

T 3 &, S et @l & S SR i

Tt & 1Y f6ell & g g Sl ¢,

gt Al § uFt ot e g o g,

e Gieas T P o T @ 9o ¢,

TG T & < afedl 9@ o W 99 9§

Q.No: 24 Ut Tt TR g ST &7 ufckydl & e § § -1 SR 32
A SN SRR

B g DR
c TAY SHAPR
D I STPR

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

R ST B UgaR I T U=l $ Gad SR Sk a1l [ddbey &1 9a Sifor-
T I SR o AT NRARAY +f @ AT,

e SR W oS 9 agrd ¥ dd

fore S Sit 0 9 ARE R A RAN 6l

T IR, < der o § T S8R B

haR $ g1 6l & TArg gobe e 8,

g Al § U o wry g o B,

g Qe T P < ot W g9 R,

g AT & o Ofed e o H g W €

Q.No: 25 FHfIREd & ¥ S F SHUR ST Siaq o H el 8, it
A uftem & it TeRY 1 e T

B 37 Y Yar A 3(q S ToRA B
C TR F SHRBR Bl UG B I B 7
D WG gW & § W olig A0 B B

Correct Ans : A
Subject : Hindi Bhasha 01

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Passage:

&R DI F TgaR YP T U F Ta9 SR SR I [awew o1 9u Bifor-
BT I SR o A1 AT R J A g,

Feo SR W oS i Ia a9 | o g

fhre wird S 4y g A R A RRAN @1

T 3% §, S dier € S a/R B

e & g el % T g S €,

gt Afear § ur i @ g o €,

i Giest U P S o T I ©,

e @ € o O a6 o W g 9§

Q.No: 26 HRTaRT “ TR 1 T 1 § Q7 aref §2

A W USH FA
B - F
C o g

D € ¥ faT SreT

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

T FIAI B TgaR UP T U F TaY ST SR IS e &1 99 Difor-
BT 90 3HA o A AR o F W E,

Te SR W oS 9 39l § dd 7

fore o S i e A9 R A FRAl Bl

T 32 ¥, S et i € S S8R B

o & g1 e & T g I R,

gt Al F U O W g o €,

4 TieaR T HU S Yad! WY g3 §,

I AT § S Gfed! a% o | gol 9 5

Q.No: 27 & 7 faufdd "9, % gr ~ Frafafea # 3 59 SRS 31 72
A IR BRE

B Y PRS
C SHRAH FRS
D YHGH BRS

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

R T BT UGHR I T TAl T I SR AN faped BT 997 Pifor-
BT 90 33T a1 9 AWM IR E,

TV SR W TS 1t =t F9rdt | 3 7

fore wmd S iy g I9H IR i fRAl B

T 3% B, 9 dier o § T s8R

HaeR F g 5l & T g o 8,

Tl Afear  urh Ot R g o §,

1 Tigex 1T P o ¥ad! WY I T,
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g AT & S wfed @ o H gS o |

Q.No: 28 F=fRIREd & | ‘webrw * 1 yufgar e @ 82

A k&)
B T
C a4t
D Eic)

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

e Proui Bl Ugek IO T U & T IR IR a1 f[aded BT 9a Pivg-
BT 9 SfJEd o 714 R R @ A E,

oo SR R a77s It St § 4 8

fire 9 S i w9 XA X ara R @t

T 32 ¢, o dier A € S w5RI @

Trama & 1 el & IegE o oI B,

gt A I art f e g3 o 8,

i Diee U P S To@! U gIa €,

T8 AT & o el de o H IS o €1

Q.No: 29 B yd 3R it TRl § ORE Ud g auT I WOl § TURg-TARE A gt § 1
A 9T I

QeT B
C USR8
D ghofifcet gg

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 30 3% & ¥ FH-71 sod SRS Tt 82

A SfTehie

B K]

C o

D YE Td W™

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 31 Which of the following is divisible by 10?

2461594
fofafed 3 9 &F 10 9 faurs g2
4856789753210

A
4856789753210
5141781017116791

B
5141781017116791
9171551819071

C
917155189071

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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33517819651819

33517819651819

Correct Ans : A

Subject : Mathematics

Q.No: 32 What should come in place of the question mark (?) in the following question?

2466900 (T)° x (12)° + (11)* = (11’
FrerfeRaa v # warem=e fre () % S O w0 3T =nee?
(VID)" x (121)% + (11)* = (12)?
6

A
6
5

B
a4

C
a
8

D
8

Correct Ans : B

Subject : Mathematics

Q.No: 33 The sum of ages of two boys is 40 and one is 10 years older than other. Find the age of younger in years.

2467300
B TSH! P 3G BT AN 40 § IR TP W ¥ 10 T 521 71 B 3T 319 Iuf & 710 Pifor?
15
A
15
25
B
25
35
o
35
20
D
20

Correct Ans : A

Subject : Mathematics

Q.No: 34 The radius of a wheel is 21 cm. how many revolution will it make in travelling 924 m?
2467672

UF qOIER ufed Bt e 21 I 81 924 5t aEn # g8 fFan 9 amme?
70

70
;WA
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350

200
C

200

700
D

700

Correct Ans : D

Subject : Mathematics

Q.No: 35 Ifx+2y+3z=14,2x+3y+Z=11and3x +y + 2z = 11, Find (x + y + 2).

2467743
TR X+ 2y +32=14,2x + 3y + Z =11 3R 3x + y + 2z = 11, (X + y + z) TN BT
6
A
6
5
B
4
C
4
0
D
0

Correct Ans : A

Subject : Mathematics

Q.No: 36 [f, B are the roots of the equation x2 - 7x + 12 = 0, then «? + B2 equals to:

2467794
e o, p THGWNx2 - 7x+ 12=0F HA §, A o + 2 W &:
14
A
14
19
B
19
24
C
24
25
D
25

Correct Ans : D

Subject : Mathematics

Q.No: 37  The square root of 2025 is:
2467998

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/51
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46
A

46

45
B

45

92
c

92

82
D

82

Correct Ans : B

Subject : Mathematics

Q.No: 38 A cone is

2468045
AP __
Plane figure
A
T Pl
Curve
B
qh
Solid Figure
C
3 S
Line
D
Reais

Correct Ans : C

Subject : Mathematics

Q.No: 39 The difference between the squares of two consecutive numbers is 95. Find the numbers.
2468302

< AT TRemsit & Al & o T SiaR 95 §1 Y=Y I P

29, 30
A

29, 30

25, 26
B

25, 26

24, 25
c

24, 25

47,48
D

47,48

Correct Ans : D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Subject : Mathematics

Q.No: 40 Three consecutive integers add up to 54. What is the largest integer?

2468371
T warTa quie! $1 9 54 T 31 T 991 qUiies 1 87
18
A
18
15
B
15
17
c
17
19
D
19

Correct Ans : D

Subject : Mathematics

Q.No: 41 Shalija often makes a mistake in comparing the decimal numbers. For example, 0.30 is larger than 0.3. The most probable reason
2468429

QARSI SRR SR TRl B ol d=A B Tl Bl 81 IR0 & [T, 0.30, 0.3 F TST §1 GaH GHIAT SR ... H|

Low intelligence quotient

A
Fra g wmea
Lack of concentration
B
M P HH
Misconception regarding the significance of zero in ordering decimal
C
XA & P A [ & Aed & aR # Tad YR
Lack of practices after School
D

A F 915 AN BT
Correct Ans : C

Subject : Mathematics

Q.No: 42 Wwhich one of the following assessment strategies is best suited to assess the Mathematical creativity in learners?
2468483

RienfRf & nfdwia FeiTEdar ¥ sided F R Fofifd § § $9-0 geien diem 9aid 9§ SugH 87

Investigatory project

A
SRS URASHT (IS
Annual examinations
B
T wtan
Field trips
C
&fg smor
D Olympiad examination
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 13/51
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Siiftrars e
Correct Ans : D

Subject : Mathematics

Q.No: 43 Who said— “instructional objectives are best described in terms of the terminal behaviour expected from the learners”?
2468602

A fofad # § ug Fu frad gRI Fg1 T - "Rienff & oiféa siftm oraeR ¥ de # P xere STl o1 IeR 33T quid et ofar g2

Robert Mager

A

RECKLN

Robert Miller's
B

e R

Robert Wadra
C

Yol a1

Sumit Samele
D

Ity o
Correct Ans : A

Subject : Mathematics

Q.No: 44 A bag contains 15 coins of 50 paise and 10 coins of 1 rupee. Find the ratio of 50p coins to lrupee coins.
2469637

TH ST H 50 T & 15 R ok 1 308 & 10 e §1 50 W & Riaal 1 1 30 & Riga! I srgurd 71 P

3:5
A

3:5

1:10
B

1:10

3:4
C

3:4

10:3
D

10:3

Correct Ans : C

Subject : Mathematics

Q.No: 45 Subtract 6pq — 4p*q + Spq? — 8 from 10 — 2pq — 4p*q + Spq?
2469856 Pq — 4p*q ¥ opq Pq —Ip-qTopq

10 — 2pq — 4p*q + 5pq? =k 6pq — 4pq + 5pgt— 8 HTIVI

18 - 4pq
A
18 - 4pq
2+ 4pq
B
2 + 4pq
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 14/51
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C 18 - 8pq

18 - 8pq
2 + 8pq

2 + 8pq
Correct Ans : C

Subject : Mathematics

Q.No: 46  Find the greatest common factor of 20d(d — 2)*, 10(d - 2)%, 10d(d - 2)"
2469963

20d%(d - 2)*, 10(d — 2)%, 10d(d — 2)" &1 IaY ST SHIME UGS 1A B

20(d - 2)°
A

20(d - 2y

10(d - 2)8
B

10(d -2y

20(d - 2)*
C

20(d - 2

10(d -2y
D

10(d -2y

Correct Ans : D

Subject : Mathematics

Q.No: 47  Find the values of a and b so that x* + x3 + 8x2+ ax + b is divisible by 2 — 1.
2470013

2 3R b P AF TG BIIY M x +36 + 82+ ax + b, x2 — 1 AU B

a=1b=7
A

a=1b=7

a=-1,b=7
B

a=-1,b=7

a=1,b=-7
C

a=1b=-7

a=-1,b=-9
D

a=-1,b=-9

Correct Ans : D

Subject : Mathematics

Q.No: 48 Find sub triplicate ratio of 27:8:512
2473365
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27:8:512 &1 STAMRUR J1d Hifom

3:8:2
A

3:8:2

8:3:2
B

8:3:2

3:2:8
C

3:2:8

5:2:8
D

5:2:8

Correct Ans : C

Subject : Mathematics

Q.No: 49 The best way to expose second standard children to plane figures, its vertices and edges is:

2475382
TR T & Il B IR NPiadl, Iab AN 3R TFARI T IR TR FT IS4 3BT TWHT 7
A blackboard
nets of 3d solids
B 331 3N FT &
cubes
G qsH
D geo boards
Y&

Correct Ans : D

Subject : Mathematics

Q.No: 50 What are the demerits of demonstration method?

2475586
woxH Tfo & @ 32
Pupil do not get chance to perform experiment
8 v 1 e 3 1 st T P
It is time consuming
° U R
It is economical method
c a Forrd e
D It is based on learnin% by doing
g P& W R e

Correct Ans : A

Subject : Mathematics

Q.No: 51 Herbert suggested five steps for preparing a daily lesson plan. The first step is the introduction. Morrison also suggested five steps for daily lesson

2475921 plan. What is the first step suggested by Morrison?

g 7 A uIs Ao GaR FRA & fo it TRl @1 gea e e wen uikad 81 AiReE 3 & ure divmn & e ot wRon o geme | aies gRT g e uga

PeH T2

Objective writing
A -

Development questions
® [CEanhe
c Exploration
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Recapitulatory questions
i

Correct Ans : C

Subject : Mathematics

Q.No: 52 A child displays difficulty in differentiating between numbers, operations and symbols, two clock hands, different coins etc. This implies that the

2476027

D

specific barrier affecting his learning is

T e weel, el ok udiet, <1 udt @t g, faftd Raw! offe & da ofR X | Ffers neRia Sa1 31 9 Iy 9% § % 3% When &1 guifad & aran

fafry oy &

poor motor skills, reading and writing skills

T Hiex B, U IR forgs 31 FiRa

poor verbal, visual, auditory and working memory

TS AP, T4, yaqu R HrRiha wfy

poor visual processing ability i.e., visual discrimination, spatial organisation and visual coordination

poor language processing ability i.e., expression, vocabulary and auditory processing
GRI HTST URIRHRT &l At SHftveafe, Sisaracht iR siaqur TRl

Correct Ans : C

Subject : Mathematics

Q.No: 53
2479429

Which two numbers should be interchanged to make the given equation correct?

9-3x4+15+6=-10

feu T T ieRy A T IH & e {5 3 Semsi i e # sgar S anty?
9-3x4+15+6=-10
4 and 15

43R 15
9 and 6

936
3and 6

33dR6
3 and 15

33R15

Correct Ans : C

Subject : Mathematics

Q.No: 54
2481425

c

D

Learning and acquisition can be automatically attained favoured by -
1. Cognitivists

2. Behaviourists

........... RT3 3R SRRy @) we: 8 e fban o g 8
1. GFTEHAR!
2. HGERArd!

Only 1 is correct

Pad 1 W7

Only 2 is correct

Faa 29 R

Both 1 and 2 is correct

1 3R 2w

Neither 1 nor 2
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Fdr1 AR 2
Correct Ans : A

Subject : Mathematics

Q.No: 55 A very common error observed in addition of linear expression is 5y+3=8y.

2481716
This type of error is termed as
Y e F ifafvad 30t 718 T 954 8 9 3 Sy+3=8y 3
T PR P13 P el el §
Clerical error

A i g
Conceptual error

° Yo R
Procedural error

¢ s 3R

D Careless error
ARAE e

Correct Ans : B

Subject : Mathematics

Q.No: 56 DIRECTIONS: What should come in place of question mark (?) in the following question?
2481882

[(8)2 (15 = (247) ="

= Pofifea gy & wyaes fag (2) $ RIA R 1 S 9ifte?

[(8) x(15) = (24¥]="
28
28
64
64
26
26

None of the given options

o Ry T Redt § A B T
Correct Ans : D

Subject : Mathematics

Q.No: 57 When introducing mensuration, a teacher writes all the formulae on the board before proceeding further. This reflects that she is following the

. Al eema IR T, TH e off gg ¥ Ued 918 W ueht wiHg foraa 81 95 axifan § 5 95 SRu aR W R
Deductive approach
A e =Rei
Inductive approach
B
STHAHD ERHIT
Experimental approach
Cc
e e
D Practical approach

Correct Ans : A

Subject : Mathematics
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Q.No: 58 Ankur got zero marks in a word problem on linear equations in an assessment. The teacher knows that he can solve linear equations correctly. The
2482398 teacher ought to remark in his report

TP S O A THidRull R U@ Weg IO H SR $I A 8 i | Ried a1 § 1o 7 We THliaxon o 9! 71 4 50 72 9l ol e 31 oot Ruld &
feaht weh =nfee

Ankur has a problem in comprehending the language of the question, though he can solve the equations

A
PR YUY B U GHFA T T R B, TS I8 THiBRON B 5 IR UHA 8
Ankur lacks concentration and hence has examination phobia

° i 1 G et § o g o e T ¥
Ankur is not studying and practicing at home

C
PR W R UGS AR Mg T R w

D Apkur has not understood the concept of linear equations completely
IR P TiHRuT P SiguURem Y T e X T wHS uRn

Correct Ans : A

Subject : Mathematics

Q.No: 59 The deductive method is a viable option in certain situations these can be:

2482696 T Ruferdt # e 3fY te saer faeed ¢ S fw 8 9 &
when dealing with highly motivated students
A i TR Sl & WY TaER HRd IAT
teaching a particularly difficult concept
® T AR U | B3 SGuRuT F UgH
for preparing students to write exams
c 1 e v 3 R e e B g
All of the given option
D

e e wf faww
Correct Ans : D

Subject : Mathematics

Q.No: 60  Which of the following teaching methods have been developed with the help of psychology

2anarad TR @t weraa § Prfafed 3 § few Rer usfy o1 e v m g
Montessory method

A At A
Project method

° oo Rl

c Dalton method

Sleed fafr

All of the given option

& fog Tu il e
Correct Ans : D

Subject : Mathematics

Q.No: 61 The curve for human population growth is:
2469534

THa SFRe gfs & e aw §:

Horizontal line

Bt v

B L-shaped curve
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T F PR DT G5

J-shaped curve

I & PR FT T

Parabola curve

RSy dp
Correct Ans : C

Subject : Environmental Study

Q.No: 62 Which of the following is also called detrivores?
2469744

faffed § & e ARy ft e o &

Herbivores

SR

Decomposer

SUEUTH

Carnivores

TR

Omnivores

Tafgrdt

Correct Ans : B

Subject : Environmental Study

Q.No: 63 The scientific study of human population is called-
2469776

T ST ST JqIE 31T Heard o-
Demography

Sifhat
Heridity

statistics

wiferat
Mobility

TfereBt

Correct Ans : A

Subject : Environmental Study

Q.No: 64 Maximum deposition of DDT will occur in-
2470146

DDT &1 3ifAsiY S gl 8-
A Phytoplankton
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RICERSEER

Crab
B
FoS
Eel
c
&«
Sea gull
D
Tl T

Correct Ans : D

Subject : Environmental Study

Q.No: 65 The section on ‘Do this and find out’ included in different topics in EVS text book aim at-
2470332

ey urew qRaw! # fafs vt & e 38 Y SR dt Y U T SeRA B

Keeping the student engaged at home

A

foremdf &1 R & ot

Providing direct hands on experience
B

SITHT W YT BT U BT

Improving performance in examination
C

e F v # gUR

Learning definition of scientific terms
D

P Tedl T gfewTer d

Correct Ans : B

Subject : Environmental Study

Q.No: 66 Which of the following interpretations represents diversity?

2470513

Frafafed § 9 F9-30 aren fafdyd 1 el ¥

It increases discrimination among people
A

Tg At & ST HEHTT TET ©

It increases harmony among people
B

Ig Al & <9 THEdT SgTT §

It accepts the uniqueness of the people.
C

Tg Al @1 Rfgar @ Wi 8

It acknowledges inequality between people
D

g AT & fT SHAT B WHeRdT €

Correct Ans : C

Subject : Environmental Study

Q.No: 67 Among the given following options which house is called floation house?
2470613
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Frofifad e 3 ¥ P9 TR 61 wiew™ 8199 el Sl 87

Stilt house
A
ARafar w®
Canvas
B
Fara
Igloo
C
L
House boats
D

GERE
Correct Ans : D

Subject : Environmental Study

Q.No: 68 Which of the following is an example of natural hazards?

2472128
fufifea & ¥ o uelis Tl 1 38R 32
Explosions,
A
Creard
Leakage of toxic waste
B
Tl PR 1 R
Dam failure,
C
iy 3 fatperar
Tsunamis
D
T

Correct Ans : D

Subject : Environmental Study

Q.No: 69 Tropical monsoon climate is found;

2472204

IwTes T TR Sraarg ars Sl §;

Over the Indian sub-continent, North Eastern part of South America and Northern Australia
A

URRT SUHGTENY, &For ST & SR gdlf HrT Sik St eifeeferar

north and south of the Amazon forest in Brazil
B

TS & ST F STa & SR SIR afdor §

near Amazon Basin in South America, western equatorial Africa
C

Tfaror ot § oo IR & ur, Uiy ymeRediy enpiet

adjoining parts of Bolivia and Paraguay in South America
D

Tt 3fRkeT | siefifdar ok Wi F o ¥ R

Correct Ans : A

Subject : Environmental Study
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Q.No: 70 Discharging of all collection of watersheds into the same major body of water is referred to as a
2472307

SagwRi & T TuEl 31 U € vgE 9d e ¥ Bis 1 |1 Sean 82

sewage drainage system

A
e g Rreery
watershed
B
RS
drainage basin
C
i e aRM
wetland
D
sy

Correct Ans : C

Subject : Environmental Study

Q.No: 71 Eagles can see things from 20 feet away in the day due to

2472403
et fe & 20 Wie R § +ff il &1 2@ Tt B
fixed eye sockets
A
foeRs g Wi
refraction error of the eye,
B
3G P 3uaE 3
large number of cone cells
C
g PIRIEE F 5 Ge
Equal no of photoreceptor cells
D

TIRINIER SHIRIGTSH B T G

Correct Ans : C

Subject : Environmental Study

Q.No: 72 The word ‘adolescence’ derived from the greek word ‘adolescere’ which mean
2472566

TSI T W Usg "SR’ § forar mar 3 e o §

Increase in body height

A
TR T BT TGN
Malture development
B
ufiued fasrr
Increase in body weight
Cc
RIS UR &1 g
D Development deficiency
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fowr@® St

Correct Ans : A

Subject : Environmental Study

Q.No: 73 A diet which is rich in all the important nutrient is called.
2472703

@ 1ER R i Teagl v gerd i |, Gga 8-

Rich diet
A
& 3feR
Complete diet
B
quf 3R
Balance diet
C
TR SRR
Diet
D
3BR

Correct Ans : C

Subject : Environmental Study

Q.No: 74 Where is the Variable Energy Cyclotron Centre located in India?
2473955

HRa # uRacda Fef Wgaiiei dg bl Rud 82

Mumbai

i

Kolkata

PITBICT
Delhi

Chennai

EES

Correct Ans : B

Subject : Environmental Study

Q.No: 75 Mars Orbiter Mission (MOM) is informally called as:
2473970

g 3iffdfer i (MOM) &) sFTaIie =9 J 1 $Hgl oIl 872

Mangalyaan

A
HITer™=
Mission water
B
o ot
& Mystery Mars
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el

Magnetic Mangal

Mfew W
Correct Ans : A

Subject : Environmental Study

Q.No: 76 Which nation has recently announced a successful test of its most powerful launcher to date the “Zoljanah”?

2474114
o0 32 A 7 € F o e QR iR "SR 3 e WIS S T B 82
Iraq
A
RE
Iran
B
®/A
Lebanon
C
ECIcl
Dubai
D
(55

Correct Ans : B

Subject : Environmental Study

Q.No: 77 Which of the following is the name of the first indigenously built aircraft carrier of India?

2474152
Frafifea 7 & o1 YRa & Tea w@ew Fiffa farrares dd @1 7w 27
INS Vikrant
A
1$.5.99. faspia
INS Arihant
B
31E.5.74. 3ikga
INS Arighat
o
1S, TA.09. ifura
INS Vikram
D
3E.01.79. fopn

Correct Ans : A

Subject : Environmental Study

Q.No: 78 Including India, how many countries have the capability of exploring underwater vehicles for carrying out subsea activities?
2474159

HRA Ffed, fhan A2 § Iu-Tsht il @1 ofetm 37 & g arfl & 9 & areeli 1 TS B DY &l 82

4
A
4
B
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6
C

6

7
D

7

Correct Ans : C

Subject : Environmental Study

Q.No: 79 In which of the following places is the Indian Deep Space Network (ISDN) located?

YR T Sfalker Fead (3. huw. . Fufifd & 3 fow m w fRua 2

2474180
Byalalu
A
g
Vedaranyam
B
JerRvaH
Kulathur
C
Fagd
Veppanthattai
D
Furrrgs

Correct Ans : A

Subject : Environmental Study

Q.No: 80 Which of the following soils is permanently frozen?

frafafea # & o9 @ firdl vl w9 § ot g 22

2475679

Gelisols
A

Siferdied

histosols
B

i

Andisols
C

US|

spodosols
D

weNE

Correct Ans : A

Subject : Environmental Study

Q.No: 81 A is a soil scientist who specializes in a branch of soil science that is concerned with identification, formation, and distribution of soils. Fill in

2475923 the blank.

TH_ TS el dmie § S gel faum 6t ve wran # faRivgar @ § S A 9 ugaE, e iR R § wefia {1 fad -m R

Soil Enaineer
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e G

Soil Edaphologist
B

T fRienfag

Soil pedologist
C

e o

Soil officer
D

7T i
Correct Ans : C

Subject : Environmental Study

Q.No: 82 Which animal is used for the game of polo?
2476464

Ol & Qo & RIT g SR o1 IudT v Sirar €2

Horse
A

gt

Bull
B

g

Cow
C

™

Cocks
D

g

Correct Ans : A

Subject : Environmental Study

Q.No: 83 Aishwarya Qil Fields is located in which district of Rajasthan?
2476495

gl sifd wics, IeRAA P 5 R § Rud 82

Barmer
A

AR

Jaisalmer
B

SR

Bikaner
C

HEPR

Udaipur
D

TSR

Correct Ans : A

Subject : Environmental Study
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Q.No: 84 Which festival in Himachal Pradesh is celebrated every year?

2476594
fomTae Te= & $ W ISR &R WA 17-23 Wid a A S 82
Nalwari melas
A
AART Aew
Pir Budhan mela
B
R g Far
Bhoj Mela
(o
I Bl
Hemim mela
D

&t B

Correct Ans : A

Subject : Environmental Study

Q.No: 85 Knowledge through peer based communication is related to:

2477294
TewH! enuifd TR & e I I 59 F Fela 32
Rapid questions
A
GEikiaee
Society method
B
o fafy
Teacher’s knowledge
C
Rigres &1 9
Small group discussions
D

B wgg o ufmsf
Correct Ans : D

Subject : Environmental Study

Q.No: 86 Group discussions make it possible for children to think for. solution.
2477298
TpuaisEis e wmym & R dear 9ya s 8
Never ending
A
i 7 & B AT
Far from land
B
SERAA®
Out of the box
C
ST H"
Ineffective
D

STHTE
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Correct Ans : C

Subject : Environmental Study

Q.No: 87 A brief oral feedback after the visit may be taken:

2477346
YU & 915 U St A vfafear_ d S aedt e
On the spot only
A
T YA RIA TR
Never
B
it T
Only After the group reach school
Cc
FI0 I F KA g & 918
Can be taken on the spot or after reaching school
D

1R YA T TR AT YE S T Uge & 915
Correct Ans : D

Subject : Environmental Study

Q.No: 88 What is Biodiversity?

2477798

1 fafasrr @@ 32

A branch of biology that deals with the diversity in human beings only
A

e fam 1 o e St Faw AFE F R 3 gafta @

A branch of biology that deals with the diversity in plants only
B

i o #t @ IR S Saw el F faferar § wafa ¥

A concept that explains diversity in human beings
Cc

T QYR S 79 H e ot omen sl ¥

Variety of organisms existing on the earth, their interrelationships and their relationship with the environment
D

gt R Hieg Siidl @t e, 39 siaday SR waferor & Yy S Gey

Correct Ans : D

Subject : Environmental Study

Q.No: 89  Which of the following is a Non-Projected visual three-dimensional TLM (Teaching Learning Material)?

2478689
fufafed & § o1 tF smafia - Remrd exa d.ua.wm. (s siftpm ) g2
Gramophone records
A
THEH Rl
Programmed material or SLM
B
w siferr arsh
Graphs
C
lLa
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D Diorama

srivr (Bifaw wexf)

Correct Ans : D

Subject : Environmental Study

Q.No: 90 Periodicity means evaluation of performance of learners should be done frequently at the end of every unit or term. This is also known as which of the
2478724 following?

Safiwar &1 34 ¥ 5 UdE 1S a1 3Ef F oid F Rienfiat ¥ e &1 geuied IR-aIR v 9wkl 3 i § 9 s Am g off 9 o 82

Placement Evaluation

A
R i
Formative Evaluation
B
EARHS i
Executive Evaluation
C
FRIGR qeie
Summative Evaluation
D

AATTAS HiH
Correct Ans : D

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 91 Which of the following is the most suitable title for the given poem?

A Caution and Passion

B Unbearable Love

C Death by Chance

D A Naughty Little Comet

Correct Ans : D

Subject : English Language 02
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Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 92 ‘She loved to wander out at night and jump about and play’. What does the word ‘she’ denote here in the given line of the poem?

A comet

B the speaker
C mother

D the moon

Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 93 ‘She used to scold her reckless child for venturing out too far’. What does the word ‘scold’ mean in the given line?

A cause to accept or become hardened to
B tending to obstruct or cause harm

C speak to someone angrily

D necessary as a duty or responsibility

Correct Ans : C
Subject : English Language 02
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Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 94 Which of the following is opposite in meaning to the word ‘cautious’ in the poem?

A wise

B clever

C negligent
D politic

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 95 ‘She said there was no fun in life unless you ventured out’. Which part of speech is the word ‘unless’ in the given line?

A conjunction
B preposition
C adverb

D adjective
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Correct Ans : A

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 96 Why does the poet call the comet foolish in the given poem?

A because the poet wants to create a metaphor

B because the comet became very bigger

C because the comet didn’t show any caution and showed the tail to the sun
D because the poet didn‘t like it much so he calls it foolish

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
There was a little comet who lived near the galaxy!

She loved to wander out at night and jump about and play.

The mother of the comet was a very good old star;

She used to scold her reckless child for venturing out too far.
She told her of the ogre, Sun, who loved on stars to sup,

And who asked no better pastime than in gobbling comets up.
But instead of growing cautious and of showing proper fear,

The foolish little comet edged up nearer, and more near.

She switched her saucy tail along right where the Sun could see,
And flirted with old Mars, and was as bold as bold could be.

She laughed to scorn the quiet stars who never frisked about;
She said there was no fun in life unless you ventured out.

She liked to make the planets stare, and wished no better mirth

Than just to see the telescopes aimed at her from the Earth.

Q.No: 97 Where did the little comet live, according to the given poem?
A near the moon

B near the sun
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C near the galaxy
D near the earth
Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941, By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

Q.No: 98 How were the victims carried out in the Holocaust by the German Army?

A in pogroms and mass shootings

B in only deportation

C they were hanged one by one each day
D None of the given options

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

Q.No: 99 What was the policy called in concentration camps for killing people?

A a policy of extermination through labour

a nalirv nf chantina
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B
C a policy of mass murder
D a policy of deportation

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

Q.No: 100 The Nazi regime built a network of concentration camps in Germany. Which of the following was the first one out of them?

A Dachau

B Auschwitz-Birkenau
Cc Chetmno

D Betzec

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Belzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945,

Q.No: 101 Which of the following is NOT correct according to the given passage?

tha Fnahlina Art nava Hitlar dirtatarial nlanarv naware
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A

B after Germany annexed Austria, Jewish businesses and other buildings were ransacked

c the segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish
Question

D Invasion of Poland triggered World War I

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable”, starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941, By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

Q.No: 102 ‘Nazi Germany and its collaborators systematically murdered around six million Jews’. Which part of speech is the word ‘systematically’ in the given

line?
A adjective
B adverb
C preposition
D noun

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable"”, starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.
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Q.No: 103 ‘Thousands of camps and other detention sites were established across German-occupied Europe’. Which part of speech is the word ‘across’ in the

given line?
A adverb
B determiner
C preposition
D conjunction

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable", starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

Q.No: 104 ‘Victims were being deported from ghettos across’. Which of the following is nearest ‘deport’ in the given line?

A expel

B take in
C merge
D permit

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

“Thou shalt not be a victim, thou shalt not be a perpetrator, but, above all, thou shalt not be a bystander.” — Yehuda Bauer. The Holocaust, was the genocide of
European Jews during World War II. Between 1941 and 1945, Nazi Germany and its collaborators systematically murdered some six million Jews across German-
occupied Europe, around two-thirds of Europe's Jewish population. The murders were carried out in pogroms and mass shootings; by a policy of extermination
through labour in concentration camps; and in gas chambers and gas vans in German extermination camps, chiefly Auschwitz-Birkenau, Betzec, Chetmno,
Majdanek, Sobibdr, and Treblinka in occupied Poland.

Germany implemented the persecution in stages. Following Adolf Hitler's appointment as chancellor on 30 January 1933, the regime built a network of
concentration camps in Germany for political opponents and those deemed "undesirable”, starting with Dachau on 22 March 1933. After the passing of the
Enabling Act on 24 March, which gave Hitler dictatorial plenary powers, the government began isolating Jews from civil society; this included boycotting Jewish
businesses in April 1933 and enacting the Nuremberg Laws in September 1935. On 9-10 November 1938, eight months after Germany annexed Austria, Jewish
businesses and other buildings were ransacked or set on fire throughout Germany and Austria on what became known as Kristallnacht (the "Night of Broken
Glass"). After Germany invaded Poland in September 1939, triggering World War II, the regime set up ghettos to segregate Jews. Eventually, thousands of
camps and other detention sites were established across German-occupied Europe.

The segregation of Jews in ghettos culminated in the policy of extermination the Nazis called the Final Solution to the Jewish Question, discussed by senior
government officials at the Wannsee Conference in Berlin in January 1942. As German forces captured territories in the East, all anti-Jewish measures were
radicalized. Under the coordination of the SS, with directions from the highest leadership of the Nazi Party, killings were committed within Germany itself,
throughout occupied Europe, and within territories controlled by Germany's allies. Paramilitary death squads called Einsatzgruppen, in cooperation with the
German Army and local collaborators, murdered around 1.3 million Jews in mass shootings and pogroms from the summer of 1941. By mid-1942, victims were
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being deported from ghettos across Europe in sealed freight trains to extermination camps where, if they survived the journey, they were gassed, worked or
beaten to death, or killed by disease, medical experiments, or during death marches. The killing continued until the end of World War II in Europe in May 1945.

Q.No: 105 ‘Germany implemented the persecution in stages’. Which part of speech is the word ‘persecution’ in the given line?

A verb

B adjective

C noun

D determiner

Correct Ans : C

Subject : English Language 02

Q.No: 106 How a process writing approach can be described?

A horizontal approach
B top down approach
Cc bottom up approach
D vertical approach

Correct Ans : C

Subject : English Language 02

Q.No: 107 Aspect of effective language classroom is to provide learners with an opportunity to —

A interaction
B assessment
Cc imitation

D interference

Correct Ans : A

Subject : English Language 02

Q.No: 108 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

The post office is just right there around the corner. It takes five minutes foot to get there.
A at
B on
C with
D in

Correct Ans : B

Subject : English Language 02

Q.No: 109 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

She has the most two-year-old girl.
A admire
B beauty
C adorable
D taller

Correct Ans : C

Subject : English Language 02

Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

We don’t need tactics for marketing.
A amuse
annnv
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C brightly
D aggressive
Correct Ans : D

Subject : English Language 02

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

The cat jumped the counter.
A off
B into
C of
D with

Correct Ans : A

Subject : English Language 02

Q.No: 112 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

It was very not to call us and say you'd be late.
stupidity
thoughtless

foolishness

o 0O w >

surprise
Correct Ans : B

Subject : English Language 02

Q.No: 113 Who among the following gave the cognitive theory of language learning?

A Piaget
B Vygotsky
C Chomsky
D Pavlov

Correct Ans : A

Subject : English Language 02

Q.No: 114 What are the factors, which affect learning?

A Learner’s disinterest

B Non-availability of study materials and resources
C Un-conducive environment

D All of the given options

Correct Ans : D

Subject : English Language 02

Q.No: 115 The term “Critical listening” means ....

A to evaluate a message and respond with their opinion
B to listen to learn something

C to use appropriate vocabulary and language

D All of the given options

Correct Ans : A

Subject : English Language 02

Q.No: 116 What is “Decorum” in spoken language?

A A Principle of classical rhetoric
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B Appropriate gestures
c Prescribed limits of appropriate social behaviour
D All of the given options

Correct Ans : D

Subject : English Language 02

Q.No: 117 1India is a land of Diversity because of.......?

A culture

B food

C language

D all of the given options

Correct Ans : D

Subject : English Language 02

Q.No: 118 Which of the following is not a visual aid?

A Chalk, blackboard, and duster

B Flash cards and charts

C Projector, radio and audio tapes and CDs
D Flashcards and soft board

Correct Ans : C

Subject : English Language 02

Q.No: 119 Which of the following was recommended by the Kothari commission, 1966 with respect to lower primary level (Classes 1-4)?

A Three languages

B Two languages- regional and national

Cc Two languages- modern Indian language and classical or foreign language
D One language- regional

Correct Ans : D

Subject : English Language 02

Q.No: 120 Which of the following statements is not true with respect to remedial teaching?

A Remedial teaching is a pre-teaching process that facilitates the teacher in diagnosing learner's difficulties
B Remedial teaching is a re-teaching process that removes pupils ' learning distortions

C Remedial teaching programs help the students to realize their full potential.

D Remedial teaching follows diagnostic testing.

Correct Ans : A

Subject : English Language 02

Q.No: 121 There are steps of relation of the process of socialization.
2473671
FHSHGROT BT UIHUT BT TG ..o T ue 9
Two
A
QA
Four
B
R
Eleven
c
R
D Three
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Correct Ans : D

Subject : Child Developement

Q.No: 122 The main purpose of conducting a diagnostic test is for identifying

2474328
AT 2 VAT BT T TET ovvvevevrrerenrireneens 3 il o= grar &1
the general area of weakness in the performance of the class
A
FE U= B GHR FHEN & &
the specific nature of remedial programme needed
B
IS JUEARIFS HHHH B ARE TP
the causes underlying academic difficulties
C
SPTEHF R & TS T SR
the specific nature of student difficulties
D

B B R DY ARy vl

Correct Ans : C

Subject : Child Developement

Q.No: 123 Of the following, the most promising step for a teacher to take in order to improve class discipline is to
2474377

fafafed § 9 o, Ta1 & S § guR & [T Ried gR1 3610 SF a1 9l SRISH® $ad o

Note specific infractions of class rules in the marking book

A
b gt o wam & Famt & RRE Swien! B Hie S
Evaluate his/her materials, methods and approaches to children
B
= 3t gl R ofR e &1 Teais oo
Consult the class and agree upon a graduated series of punishments
C
FeT Y WA B IR & Tt Aofiers Jraen W G g
Call a parent - teacher meeting to discuss the situation
D

TTaT-foa 1 ol Rigies o1 8 e Ruf #t 79f s

Correct Ans : B

Subject : Child Developement

Q.No: 124 Match and choose the pattern of emotional development that a child exhibits
2474471

Column | Column 2

1. Initially after birth a. clation and affection

2. 6 months b. shame. anxiety, disappointment envy hope and parental affection
3. 12 months c. joy

4. 18 months d. delight and distress

5. 24 months ¢, fear, disgust. anger

6. 5 years f. jealousy, affection

TP T gRI Yeiid WIaTes e & e @) Ak S ik 997 Fike-
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FIaAA 1 FAA 2

1. 77 ¥ 91 ¥RT & | a. 3eag AR =T

2.6 AEWA b. ar&, ferar, e $eat smem X AE-Rar &1 =
3. 12 7E= c. &%

4. 18 AET d. gaft 3R wwe

5. 24 AE c. 89, YUT, FYT

6.5 ay f. &1, =g

1-d, 2-f, 3-b, 4-e, 5-a, 6-c

A
1-d, 2-f, 3-b, 4-e, 5-a, 6-c
1-d, 2-e, 3-3, 4-f, 5-c, 6-b
B
1-d, 2-e, 3-a, 4-f, 5-c, 6-b
1-e, 2-f, 3-d, 4-c, 5-b, 6-a
C
1-e, 2-f, 3-d, 4-c, 5-b, 6-a
1-f, 2-d, 3-d, 4-f, 5-b, 6-c
D

1-f, 2-d, 3-d, 4-f, 5-b, 6-c
Correct Ans : B

Subject : Child Developement

Q.No: 125 The purpose of new education policy is-

2474630

3 e =ifa 31 35 B-

to provide equal opportunity of education to all
A

¥t DY 14T FT T SR TGH FAT

to improve the whole education system
B

Tt e SR H GURAT

to link the education with employment
C

i B AR | Sie

to delink the degree with education
D

it =t fRiem 9§ e

Correct Ans : B

Subject : Child Developement

Q.No: 126 The term, “development tasks” is given by..

2474656

Kohlberg
A

GJCECU]

Vygotsky
B

IR
C Piaget
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st

Havighurst

B

Correct Ans : D

Subject : Child Developement

Q.No: 127 Assertions (A): The early stage of adolescent development is also known as pubertal period.

2475328 Reason (R): The term puberty is derived from the Latin word ‘puberatos’ which means the age of manhood.
SFY (A): fFeR Rem & urfle fRufd &t garawn & wa # +ff S o 31
PR (R): Ao Tex Qe Weg "wavery A foran man & R orf & qova ot 341
Both A and R are true and R is the correct explanation of A

A
A 3R R M1 9 § 3R R A 91 9et e eal §
A is true, but R is not the correct explanation of A

B
AT B, Al R, A B e G & BT &
A is true, but R is false

C
ATIR, AFTRIE T
A is false but R is true

D

AR ARTR TR
Correct Ans : B

Subject : Child Developement

Q.No: 128 Conscious, unconscious and repression of memories are important aspect of

2476175
e, eria AR Wi o1 g Agayl ueq §
theory of personality dynamic
A
fRTa et (R srfe) @ Risid
theory of structure of personality
B
fRTa WRa 1 Rigia
theory of psycho sexual development
Cc
! Jegera fawr o Risid
theory of social behavior
D

IS TR BT Rigia

Correct Ans : A

Subject : Child Developement

Q.No: 129 To increase the teaching-learning level of the children, which of the following qualities should the teachers NOT possess?
2476901

Tl F RIeu-Sfm WR $1 9gH & o Reet § Fafafed § § SH-91 707 781 g1 afew?
Positive behaviour
HHRIHAP HdGR
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B Strict outlook

THRIAG TIGR

Communication ability

AR &

Good subject knowledge

331 fawg I
Correct Ans : B

Subject : Child Developement

Q.No: 130 Which fact is NOT essential in creating a suitable environment for the students in school?
2476903

1. Motivation by the teachers

2. Grand school building

Choose the correct code -

B 91 ae femer # ST % fig Iuge araraRwn s & g Aewgel T 82
1. Rreret gr1 OROm

2. Yoo foenerd vaq

e IS T -

Only 1

Fad 1
Only 2

Faa 2
Both 1 and 2

Tl 1 3R 2

Neither 1 nor 2

a1 eiRAE2

Correct Ans : A

Subject : Child Developement

Q.No: 131 Which of the following is only a means to an end and therefore, not as effective Intrinsic motivation

2476991
Frafafed § & S @1 aeg Uit $1 91e[ 71 § SR S9foe Saa uurdt 1 7
Intrinsic motivation
A
ey SR
Extrinsic motivation
B
g afgRon
Intrinsic maturation
Cc
ffafve aRaear
Extrinsic maturation
D
154 uRkamar
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Correct Ans : B

Subject : Child Developement

Q.No: 132 Ram is the head of the college dramatics team and he is working hard to win this year’s best actor award trophy. Which of the following is correct?

2477057

I BRI AP EH F UHE ¢ 3R 98 3U WA F GAIY A GRBR P BT Siia & KT HgT Agd H2 38 ) 1 § I 39 a1 el 22

He is Intrinsically motivated
A

I8 Sffais FUd URa T

He is Extrinsically motivated
B

TR AR U A IRa ¥

He is Intrinsically matured
C

7@ Sifake T d R §

He is Extrinsically matured
D

98 91 TU J uRUS §

Correct Ans : B

Subject : Child Developement

Q.No: 133 As for management approaches for behaviour disorder, pharmacotherapeutic therapy can manage:
2477630

HaeR PR & vaed F P & R, sriedigles Rt 6w g H ga@d 3:

Social skill
A

HHRE FId

Life skill
B

EEE ARG

Inattention
C

ST

Self awareness
D

A SRS hT
Correct Ans : C

Subject : Child Developement

Q.No: 134 Who out of the following in their studies observed that “the epidemic of substance abuse among the young children in India in schools and

2477705 colleges resulting in changing cultural values, increasing economic stress cannot be ignored”?

Frofafea & & fem o sremem B &1 5 "uRa § Tl SR ol B @1 9= & 419 Ad gl & a7 ot IeMR $ URUIRGRY Wi 0wl § 95, g

e TIT Y FoRaiETS TeT fanaT o wear 32
KR B. K. Reddy and A. Biswas, 2013

A
PR . F. ¥F IR €. e, 2013
C. Sharma and A. Kant, 2009

B
It zmf 3R . +id, 2009

o D. R. Dutt and P. C. Dev, 2017
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B oR. &7 iR . . g, 2017
G. B. N. Rao and H. Yadav, 2006

f.4.57. W9 iR 9. UIeg, 2006
Correct Ans : A

Subject : Child Developement

Q.No: 135 Which of the following types of learning difficulties can be attributed to problems in doing mathematical operations?
2478367

FrofafeT 7 3 g vor 31 den 3 Sl o mirda femst & s § wrenel ¥ o Rrfier sgemn o1 9@ 82

Dyslexia
A

SUYST

Dyscalculia
B

fEusaghern

Dyspraxia
o

giesar

Dysgraphia
D

wnfear

Correct Ans : B

Subject : Child Developement

Q.No: 136 Which of the following type/s of education system considers placement of children with disabilities in the regular school?
2478385

i)Integrated education

i) Inclusive education

Choose the correct code

Fofafaa & 3 few yeRr @1 Rign goumeh & e s=i & Fafa wa § @ w ER o 82
i) TPipa e

ii) FETaRT e

gl DIs g

i) only

Fad i
ii) only

Fad ii
both i) and ii)

<1 i 3R i

Neither i) nor ii)

Fdi AR AR i
Correct Ans : C

Subject : Child Developement

Q.No: 137 Piaget defined as the cognitive process of fitting new information into existing cognitive schemas.
2479180
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R 3 Y Al FIETHS DT H TS THER Bl fhe B B IS Tl F T § gy s

Assimilation

A

A

Egoism
B

3EHE

Accommodation
C

S

Heredity
D

ERUUICE

Correct Ans : A

Subject : Child Developement

Q.No: 138 Which of the following statement is correct regarding Conventional level of Kohlberg’s theory?

2479286

Pra  Rid & IRURS W & day § Fufif@a 4 § o8 9 591 98 92

People take decisions about right and wrong based on their needs and desires.
A

T St Sl SR FeoTel & SYR W we iR e & A # ffa ¥

People do judgment based on socially expected rules, norms, rituals, rule of law, loyalty towards nation and so on.
B

T g w0 ¥ Sufd e, AFES, SIS, S S W, P & Ul AT onft & smR w fFofa @ §)

People think beyond all personal, social, and legal dimensions and think largely about humanity.
C

Al T, IR R ST S ¥ W W § ok 99 99M | e & R § 9§

People's judgment is based on their requirements.
D

it 31 Fofa ST emaxaemanelt wR Smeifid 2T gl

Correct Ans : B

Subject : Child Developement

Q.No: 139 The Theory of learning emphasizes that the behavior begins with and and new behaviors result from the acquisition of
2479319 pew bonds through experience.

TR 1 Ry 39 910 R OIR a1 € 5 oa8R 3R ¥ = BT § IR T HGER YT & W § U el & g & oY g g
Conditioned reflexes, Observation
A
TAIEIT FORTdT, SfaeidT
Conditioned reflexes, natural responses
B
TAEIRG ForTdl, Wil wfafsang
Observation, Imitation
C
GNP, TP
Imitation, Insight
D

B, S
Correct Ans : B
Subject : Child Developement
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Q.No: 140 Which of the following is a part of the Law of Associative Shifting given by Thorndike?

2479362
Frafeiea & 4 o1 urisr® gR1 RY ¢ Wewd uRada & Fan 51 T@ 4 g2
When any conduction unit is ready to conduct, for it to do so is satisfying.
A
I P YdeT 3Ts Aae P forll TR Bl § I I ol Tag T Firome e &
Repeated exercising of a response strengthens its connection with the stimulus and disuse weakens it.
B
e @t fi5a1 3 SR-aR SRl S @ 9g SifiE TuaRiel T Rt 57 Sl § S 6 % el fawd g @t 1
The learner’s response is moved from one stimulus to another in respect to the basic or associative stimulus.
C
SiftpTa 3t uRkfRufE! e g uw siftem fovar & ary gt siftm oft ey o W
A person varies or changes his/her response till an appropriate behavior is
succeeded.
D

T IUGT HGER WHd B b Ueh Safa S0 wiafbar sgerar gl 8
Correct Ans : C

Subject : Child Developement

Q.No: 141 Progressive education puts children at the of education.
2479589
rifia R s SRS w@he
Centre
A
Fx
Corner
B
EaC
Top
C
=iy
Bottom
D
B

Correct Ans : A

Subject : Child Developement

Q.No: 142 Which of the following is not associated with Rousseau regarding progressive education?

2479635
Wit Rt & ey # e # 9 S w6 § gaia T8 82
Rousseau criticized the formal education system.
A
w4 Y el Rien woneh @t s
Education should be in close proximity to nature.
B
e vl & Fwe S+t IRy
Role of children is that of a facilitator who totally depends on the teacher for education.
C

=l B YfiPT U TR DA § S e F R ff e | g w ik dar

FrAnratian chnnld haln a rhild ta davalan a chiald anainet eacial aviile
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ALULULIVI SV TG G VM LU MUY LIV G SHHIGIU UYUIiSL SULIUl Gy 113

et B U 7= B AT WIZA S R/E P o1 iR H37 § Heg B Tty

Correct Ans : C

Subject : Child Developement

Q.No: 143 Who was the author of “Bobo doll” studies?

2479882
“Siel STA” A F AED B A?
Albert Bandura
A
e Hg
Albert Pinto
B
e ffer
Masak Bandura
C
AP §gA
Penelopy Alvarez
D

et et

Correct Ans : A

Subject : Child Developement

Q.No: 144 which of the following helps in making predictions about behaviour?

2479917
fafiRad § 9 S 9eR F ar § YalgaH T & Ade Bl 82
Intention
A
Nl
Motive
B
SRE
will
C
el
Drive
D
3G

Correct Ans : B

Subject : Child Developement

Q.No: 145 is associated with factors such as punishment.
2479940

IS O BRB! F T B

Intrinsic Motivation

Ty SRR

External Motivation

el RO
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C Intrinsic Drive

SHaRe siaia
External Drive
MR Sfeig

Correct Ans : B

Subject : Child Developement

Q.No: 146 is a part of limbic system, responsible for emotional control and involves formation of emotional memories.
2479979

JUGTH T I BT TS U § O GaMerds For & e Swerdt § aur Sdmas Wi & fFmfo § eafifea §1

Thalamus
A

GGG

Amygdala
B

TSt

Hypothalamus
C

Sadds

Cortex
D

e

Correct Ans : B

Subject : Child Developement

Q.No: 147 Which of the following principles of development was given prime importance by the Psychologists?
2480359

TR gR e % Pl 8 § -3 Rigia o1 e Ted e @ un

The principle of continuity

A
e &1 fasia
The principle of uniform pattern
B
FH vfeEr 1 Rigia
The principle of integration
Cc
TSI T Rigr
The principle of individual difference
D

T fRaftmar o1 Rigia

Correct Ans : D

Subject : Child Developement

Q.No: 148 Teacher can change the learning environment in the classroom to address gifted and talented students by: -
2480744

RS SR faHm=meh SEl 31 Faitd $3 og e [59F TR &1 S S aramEe 3 96d 95l &

Reprimanding them often for being restless

3R B 3G I8 UN: Sied
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B Using activities that students can complete with full supervision.

I TR BT ST BT R B O PR & 9y I R W

choosing what they want to work on at least part of the time

IR g1 O A g ¥ e ol F e wea €

All of the given options

o o wf s

Correct Ans : C

Subject : Child Developement

Q.No: 149 By making use of the formula of IQ given by Stern, which of the following ranges of IQ is said to be the gifted/genius?
2480813

T gr ot M SRS F g 1 Sw o, gfealsr o Fufifea ¥ @ few i o vl et o 32
110 and above

A
110 R SR
120 and above
B
120 IR FW
140 and above
C
140 3R FWR
160 and above
D

160 3R FR
Correct Ans : B

Subject : Child Developement

Q.No: 150 Children begin to develop an understanding of themselves as separate and distinct from the environment, causality, time and space in which stage of
2482187 cognitive development?

et e F 59 TR 92 TaiaRor, FRUGI, 0T 3R RHwim 3 g R iy wWwd ot g iefia s iy aR 3 §2

Sensorimotor

A

RS

Pre-operational
B

d-wfFares

Concrete operational
o

3N Hfpares

Formal operational
D

S SibarEs
Correct Ans : A

Subject : Child Developement
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